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3. What is change management and why 15 it important? Give an example to explain.

4. Situation: The IT director opened the department staff meeting today announcing
that management has approved the payroll system project this moming., [t is
hoped that the new system will reduce clerical time and errors, improve morale in
the payroll department, and avoid possible fines and penaltics for noncompliance.
However, the systern must be installed by the end of May in order to meet new
government reporting rules, costs must be within the budgeted amount, the new
system must interact with existing systems,

Please identify tangible and intangible benefits of the new payroll system.




